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Solve the following word problems.

There are 19 presents for Marty and Joshua under the Christmas tree. If 8
presents are for Marty, how many are for Joshua?

In a class of 26 kids, 14 are going out of town for Christmas. How many
kids are staying in town?

Stewart, Tom and Amy are out in the neighborhood singing Christmas
carols. They meet up with 7 of their friends. How many kids are singing
Christmas carols now?

There are 12 kids in line at the mall to meet Santa Claus. Half of them are
asking for new toys for Christmas. How many kids are not asking for new
toys?

Karen invites 15 girls to her Christmas party. Of the 15, 4 are dressed in
red, 3 are dressed in green, 2 are dressed in white and the rest are dressed
in black. How many kids are dressed in black?
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